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1. {4pts) Ewvaluate without using the calculator:
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3. (3pts) Write as a sum and/or difference of logarithms. Express powers as factors
Simplify if possible.
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4. (3pts) Write the following as a single logarithm. Simplify il possible.
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Show all your work.



5. (2pts) Compute the following number using your calculator. Show how vou obtained

your number.

log- 14 = M = JIEF{
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6. (5pts) Solve the equation:

logs(x — 8) + logs(z — 1) = 3
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7. (7pts) At an archaelogical dig, the remains of a person were found. Test indicated that
the amount of carbon 14 in their body was 30% of the original amount. How long ago did
this person die? (The half-life of carbon 14 is 5600 years.)
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